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Instruction

: (3) 9 W% 1 S| U T 3 19 g@ve §—wue (3),

:(A)

GuEg (9) T U8 (|) | TUs (1) ¥ dglasmedia yw=, wve
(@) # fem = F: 9fd qw wve (@) ¥ wd IS
A Y © | Wk WS H 5 Y ¥ 941 T W W 1 3
Efed 2

Question No. 1 is an objective type question. It has three
sections—Section (A), Section (B) and Section (O©). In
Section (A) Multiple choice questions, in Section (B) Fill
in the blanks and in Section (C) Match the columns are

given. Each section has 5 questions and each question
carries 1 mark.
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uya-1 (@uE-37) §el faweg g fafay {155m8 ,

(Section-A) Choose and write the correct option :
(iy e i frea §
(37 oEA $H
(7) RAEE
(§) 9 d ,
(3) sogw A+

Underground drainage is

(a) tile drains
() stone drains
(c) mole drains.

(d) All of the above 3
(i) TUEH AT H TAEE BT S |

(37) 66 W

() 80w

(§) 100 ®IE

(%) 50 e

The length of Gunter chain is :

(a) 66 feet

(b) 80 feet

() 100 feet

(d) 350 feet
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(#iy Y mpw (hfem) oF wE
( 37) W *
(&) 1 "
(%) wFH H
(%) ZELH
Phalaris minor is a main weed of -
(a) Paddy
(b) Wheat
(¢) Maize
(d) Arahar
(iv) AR §
(37) AHfASIH
(&) shuaHl
(Q) SMH
(3) SR Z-78
Weedicide 1s
(a) Melathion
(o) B.H.C.
(¢) Dalapan

() Dithane Z-78
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(v) mﬂmﬁmm.mm%mmﬁm%:
(3) 31m

() 47M

(%) sum

(%) I wsft

Quantity of chemical for per kg seed treatment in leguminous crops is ;

(@) 3 grams
(b) 4 grams
(¢) 5 grams

(d) All of the above

TeT-1 (m—a)ﬁwwﬁaﬁgﬁiﬁm: [1x5=5]
(Section-B) Fill in the blanks :
() T aqfwaaqﬁaraﬁm_%f
Maximum water requirement of Crops is
(i) TFe9 ISR VERH wnE
Film projectoris _ mode of extension.
(i) T HE AN A IR A GRS
Area of fodder in cropping scheme is ____ percentage.
(fv) T+ T 96 H A S E
Sugarcane + gramis ____ year of crop rotation.
(v) HHGIIET F WY GUCH F @ Feend g1
Animal husbandry with crop production is called ____ farming.
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-1 (TUE-R) Ifaa A . R AT
W' ww-a'
() TSN -  (37) 450-500 UH
(i) THAATARTR - (F) TR
(iii) IR - (W) EEE
(iv) A-2V; s fe=t | (%) 250-300 T |
) TEdve R aER e - (9) fafehi
(Section-C) Match the following :
Column—‘A’ .Column—‘B’
(i) Transparent - (a) 450-500 grams
(ii) Weedicide - (b) Heptachlor
(iii) Insecticide - (c¢) Atrazine
(iv) A-2" size of cane - (d) 250-300 grams
()’ “/One pound butter size of cane — (€) - Silicon

Frear :(a)mmzﬁewmgﬁﬂﬂw%\mwm
zmmil(mﬁﬁmm—@m 30 TR §)

Instruction : (B) Question Nos. 210 9 arc very short answer type questions.

Each question carries 2 marks. (Maximum word-limit of

answer is 30 words)

-2 et < B i & wf fare | +1=2]

Write any two disadvantages of crop rotation.

uyI-3 ﬁﬁﬂ@?ﬁﬁnﬁmml 2]

Write the definition of irrigated farming.
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S, o s DRI PANEN R A A R wwax&‘ig
(6]

WeT-4  wyfes ward O W Qo Rafag [1+1=2]

Write any two advantages of group contact,
WT-5 3eg- 5wt & @ Qe fafa [14+1=2]

Write any two advantages of andio-visual aids,
wee-6  frwid TR T e MR e fed © 7 [1+1=2]

Where are situated Nishant garden and Mugal garden ?

[1+1=2]

= T weeias yae § @ Q@ od fafag)

w7
Write amv two differences between sceds and vegetative propagation.
TFE-8 W vEnw ¥ w e fafau [1+1=2]
Write two advantages of seed propagation.
WFR-9 v sfawy & an e fafan [V2x4=7)
Write four advantages of fruit preservation. .
fadm : (W) ¥ FEE 10 A 13 9% oEeid g § oE 5 W
4 % gt ¥ (2w 5 gfvaa - 7s we @)
Instruction @ (C) CQuestion Nos. 10 1o 13 are short answer type questions.
Lech guestion carries 4 marks. (Maximum word-limit of
answer s /5 words)
wyA-10  wAifE (& aeq # 7 wad 4 @ fafa [1+3=4] :
i
What is blanching 7 Write its three advantages. 5
%%
sterar ' ;
OR ;

femi =1 &1 Wed =90 @ 39 791 gogd € 7 59 A9 e fafag) i
k-

What do you understand by exhausting of cans? Write its three advantages.
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-3 3 3
1 Wﬁmrmmﬁgﬁgaﬂﬁﬁm: e o hs 14}

(37) arrosfaw A 7o F9 o
(F) =i wnfaet

(%) = vd zds / dy

(Z) 39/ T

Describe the cultivation of sugarcane in the following heads -

(a) Botanical name and family

(b) Improved varieties

(¢) Manures and fertilizer / hectare

(d) Yicld / hectare

3Herar
OR

Wﬂﬁ@ﬂ'}aﬂmﬁﬁaﬁgaﬁﬁﬁﬁq:

(37) sFTafas = qyr Fa

() I=Taviter sfeat

(7)) <is1 3T/ e

() 3T/ TR

Describe the cultivation of soyabean in the following heads

(a) Botanical name and family

(b) Improved varieties

(¢) Sced rate / hectare

(d) Yield / hectare

W-12 U8 9id e T sffra s e | w5 =R s fateu) [17d4=4]
Write any four differences between surface drainage and
underground drainage.
Jear
OR
fid wd o Freer § H =R 3 fafau
Write any four differences between irrigation and drainage.
M-67 C P.T.O.
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wrA-13 8w e o foe wt fafu fafag) [1x4=4]

|
E Write the method of writing in field book.
OR

¥ wdew F fing w90 W w2 Ay 6 SR e fafag)

Write any four points to note while making triangle in chain survey.

3T . () Y FEE 14 U§ 15 aysady v €1 9% T W
s siw STEET 1 (I A iy TR~ 150 U= ¥)

-

Instruction : (D) Question Nos. 14 and 15 are short answer type questions.

Each question carries § marks. (Maximum word-limit of

answer is /50 words)

Ura-14  Toe w1 wd w1 av fa fags | wifag [1x5=5]

(&) armiEE A v e
(@) wr wy el

Ly wenee =Y Yataed
(=) wai-gad
(7) & w2 vd Tua fada
Describe the cultivation of Rose in the following points :
(g) Botanical name and family
(b) Four main varieties
(¢) Methods of propagation

(d) Pruning

|
|
:
|
:

(e) One insect and its control measures
arger
OR

Tn frafaa efareh ot #97¢ i fagmand fafae )

Write any five characteristics of good and planned lawn.
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Wﬁ?ﬁﬁﬂq: [1X5=5]

Describe the cultivation of Safeq Musli under the following heads :
(@) Botanicg] name and family

(6) Medicina] importance (two)

(¢)  Seed rate and time of sowing

(@) Digging roots and dehydration

() Yield/ hectare

3ferar
OR ,A
mﬁaaﬂmwﬁm?m,%@?ﬂ?%aﬁfﬁam (1+143=5] r}

Write the botanical name, family and three importances of Ratan Jot.

(%) W9 U 16 § 18 W% dfsnid ue ¥ wa® T W
6 3 wEfed €1 (IW FT e wez-wwn 250 v 3)

Instruction : (E) Question Nos. 16 to 18 are long answer type questions.

qe-16

Each question carries 6 marks, (Maximum word-limit of

answer is 250 words)

9T H @l 9 AereHi o it faa fafag [1x6=6]
Write in brief description of Indian cultivated mushrooms.

arerar
OR

y 1 T werEw & 3IAeA &1 fafy fafau)

Write method of production of paddy straw mashroom,
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wyq-17 mﬁ@mﬁmmaﬁqﬁ\ﬂ%mm@m%m

m ' l] -6-2 55‘(/:-‘..23_.!‘:-_-:6}
Write definition of alternate bearing in mango, its causes and
control measures.

3redar

OR
Feeel 1 Gt 1 g wde H FvF F [1x6=6]
(37) arFEdfas M T §el
(@) uqf

(T W TF I4iF

() Rra-Jaoy

(3) o=
(%) A8

Describe the cultivation of Jack fruit under the following heads :
(a) Botanical name and family

(6) Soil

(c) Manures and fertilizer

(d) Planting

(e) Irrigation

() Importance
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[11]
qea-18 e ¥ Frdwv 71 ©: Fuw fafi = avi Fifeg) {1x6=8)
Describe six agricultural methods of insect control.
Irerar

OR
Wil & il A1 Pt T 1T fafirdi o et sifag (9 B fig) |

Explain the methods of control of discases in plants (any six points).

oooooooooo
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